EARAZROREIERT — 2 N—XBISY —F 201955828 (K) 3EEZHE2H

m KU—LE Y5R3m ‘ (%E] W ‘ (mEsm] — | 4 (A) 16000 B
[A&4£] 1 7% :560,000 ™ ~ 23#&:157,000  ~ 3 3#&:90,000  ~ 43#&:56,000™ . 5 3&:34,000 9
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S s 1 _EBLE 147, -4-3- . — Brii—A (BHE
1189 LI — 3 670 1(4_7)0 4-4-3-1 40.5 2 (4‘38) TEE
Libh—trva—4> B:Y—a1-—H>F— HE A
> 2 4 3 | AZAEiZE 1:47.3 6-6-4-1 |40.7| — 1 491 |SRRBX (BHE)
o 6| YTV HES—S £54.0 (1172 () | BRAME
RIAYTTyva BiRARUALY EvyLy RT7—L
> N 4 3 | EEbEE 1:48.0 7-9-9-8 | 40.6 | — 3 464 | BREH (BEE)
3 R 3 RAFNITRA Ry Y 56.0 (3) (-1) (#%) 77—ZXbEY 3>
AR NI =T B XM= FTI—L kel
NEFYESN =)I1E : —8-7- — ROFEE (BHE)
alzl 7| onerx735> i 3 Ll 1(.14/82.)1 7-8-7-5 | 41.1 8 zzg)z A
LNMLVTSY Bt A X IR
= . = 4t 3 | KEW 1:48.2 7-7-6-6 | 41.3| — 7 449 | HDE— (BEHE)
] : A e 56.0 (1/9) G | @) 7R eV
R:FH¥~<71X82 B:X2—F21Ivh AXETa—T7—L4h
OR ¢ 4 3 | LEHRE 1:48.9 3-3-5-7 |42.2| — 4 450 | mEE (BHE)
sl o BI//XX 54.0 3) (4 |HEIBE
XL JARZN B:TIRAHINIT EIARS
o th R : -1-1- - Bria—A (BEE)
ARE-EET i 3 S 1.(?).5 1-1-1-3 | 43.3 5 (4214) jpAam
LixivH/xwF B TITU-—AL EviLy RT7—L
g e ERER :49. == . — HFLE— (BEHE)
alalg|2H1ar748— i 3 uE 1(429)9 2-2-2-4 | 43.6 6 (4:350) AEin
RRN—HINE BAHA A= T4 =H77—L
2 s 43 | DIEEEE— 1:50.1 5-5-8-9 |42.8| — 9 425 | BETIB—A (BEHE)
9|55 T¥/3U7 >~ 56.0 (1172 Lo | KiliFnx
Rigr—3IUYFL BXTYLTLA X35 45
® I—F—@EBIERL
13—4— 1,8,2,9,5,6,(3,4,7)
Ao=5"= 1,8,2,9,5,6,4,7,3
3T—7— 1,8,9,6,2,4,7,5,3
41—F— (6,9),1,8,7,4,2,3,5
[ N5
B 9 280 794K 6-9 120M & 6-8 170M &R 3-6-9 480M
# B 9 1004 3-9 390F B E 6-9 140M EE 9-6-3 2,390M
6 100 3-6 290M B H 9-6 570M
3 1809

ABICOVWTRDTEEERROODE. TR LIV,



